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VEHE 82 15 11 14 6 6 6 3 143 7 41 2 8 3 0 1 0| 205
WEHE (GhIL) 3 2 0 0 0 0 2 0 7 0 0 0 0 0 0 0 0 7
HEHE (EE) 5 1 0 1 0 1 0 2 10 0 0 0 1 1 0 0 0 12
HEHE (HhaF) 8 0 0 0 0 0 0 1 9 0 2 0 0 0 0 0 0 11
HEHE ) 14 2 1 1 0 0 0 3 21 0 0 0 0 0 0 0 0 21
HEHE GRE 16 3 1 2 1 1 0 1 25 0 3 0 0 0 0 0 0 28
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B (SR 5 0 0 0 1 0 0 0 6 0 0 0 0 0 0 0 0 6
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HEHE (FhaE) 5 0 0 0 0 0 0 0 5 0 0 1 0 0 0 0 0

RERI SR (REHE) 8 4 3 2 0 4 0 0 21 1 2 0 0 0 0 0 0 24
BRI (P ) 8 1 0 0 0 1 0 0 10 0 1 1 1 1 0 0 0 14
WEE 185 34 18 21 10 13 8 12| 301 8 51 4 12 5 0 1 0 382
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